H & (class)-& (Eight)
v (subject) :- o (Math)

YATET T ATferasT
Bhangaha Municipality
ATIRAT T8 TqET

Basic Level Examation

TATE -40
HHT:-R "IN

“ﬂ% YREGH! AFard g | (All the questions are Compulsory)

©

(a) ATB AT WHEe® g1? What types of sets are A and B.

(b) @HE B &1 o JITHEE T@ard | Write all subsets of set B.

(c) WWEEE U T 99F (AT B) e ITEHE &1 HRW Afed W@e™ | what
types of sub-sets of U set are the sets A and B.

frarer 9 vy GTHT U3 SaThe fhvaT €.90WY W | Gita boutht a jacket

for Rs.1075 at a discount of 14% called the diference between marked price
and selling price.

(a) ¥fhd Ao ¥ foFd Weudl ®XFHAlE & WG | What is called the
difference between marked price and selling price.

(b) ST ATHTHT Afhd Hed 9l W38 | Find out the marked price of
the jacket.

(c) ST SATHT L.4% TR AEUH &Y A T Hed a1 aSTed | If
the jacket is sold at 7.5% profit find the cost price.

U3er JEE RZuSr F | (A ven diagram is given.)

3. ©.9300 &I Y FUGT AT €050 g 9 | The simple interest on Rs.7200 for

Syears is Rs.1080.

(a) e X HATTRI q=dLes % WH=g | What is called the difference of
amount and principal.

(b) TATSEX Ial TS Te™? (Find the rate of interest)

(c) TATSIATS \&:% T ATAQ g T g8 WNTHT fWTo T | Dived the

interest into parts in the ration 7:5 .

4.

5.

(a) 750 gram T 1kg Ea) ENEISEESI T'I"‘TR_:@'H |
Find the ratio of 750gram and 1kg.

(b) ©.§00 A R AT HIUN Wgwg WA TLOO W Hd HU g |
If 12 exercise books can be bought in Rs.600 how many exercise books can
be bought for Rs.900.

(d) IXT ™ éﬁﬂﬁE Yoo ?1’@:@'{:[ | (simplify and Write in scientific
notation.)
(1.1 x 103%) + (2.3 x 10%)

1.7 x 10

fagumT fo=mr ABCD USer & 71, A uger 9q fafusr g | In the given

figure, ABCD is a square and a circle is drawn inside it. o —

a) T UIET [ AB=14cm Y THAHT STAHS Well
Fi"'lﬁ”‘ﬁ?f | if one side of the square AB=14cm,Find
Its area. .

b) FAHT ATSAE Il TMSTR4 | Find the radius of circle.

c) I UTF(‘@ AT A6 qar 3Je™ | Find the area of shaded parts.

d) T® FaBl UREH TS WA @OSTe™ | Find the length of

circumference of the circle.

A) ATE e v T W Tlfiﬁ'ﬂ | Simplify using law of indices.

3a-2 —4+3a

X - X
B) @UEI®IW THe™ | Factories.
4a? — b% + 2ab — 100
Simplify TX TR |
3x? —4x -7 x*—1
3x2—7x  x—4
(a) @9, 9T TMSTBM find L.C.M. of
3x3 — 15x T 2x3 — 50x
(b) BT T@'ﬁ (solve):-
7x2+13x—2=0
(a) x HTET ST WUH! FAHT TgHHH! TS AlMed HIUDHI T4 T NS A
aﬁ@ﬁ | Write the formula to find an exterior angle of a regular pylon.

(b) TR =T e %gﬂﬁ‘ ABC &7 In adjoining figure what type of triangle is ABC
triangle?

(c) @il 31$ W@ | Fill in the blanks




ATIdDT YcUh h[Uhl ATH

10. (a) AB-7cm, AD=4cm g T ATIT ABCD &1 ToT THRIE | onstruct a rectangle ABCD
Having AB=7cm and AD=4cm

(b)x,yTz T | qdqT @ il%" Y | Find the value of x,y and z

1200VUZO

11. (a) N 070°E T@T3T T4 @I+ TIEI@I'{[ | Sketch to show the bearing of N 070°E
(b) 2fiifa=32%0(0,0), A(3,4) TB(4,3) WIHIAABCOH OA=0BES WAl s@ITRE |
INAABCO with vertices 0(0,0), A(3,4) TB(4,3), show that OA=0B
(c) ¥fifa=g8% A (3, 2), B (7,2), TC(3,-2) HUHI AABC ®E I&H fa=gap! arai —90°
A1 qREBAT TET T At AABC T YilEge® e o g Frwers w@r
o= 9¥qT TR | Find the vertices of the image AA’B’C’ of AABC with vertices

A (3, 2), B (7, 2), and C (3,-2) after rotating it through —90° about the origin. Show
both of triangle in a graph.

12. (a) a« fegus! qicrem™r U3er TRER®T AT Fiaerad Geudl § | g9ars 99

= TET T iii:' ¥ | The income of a family in percentage is given in the table
below. Represent this information in pie chart.

qa AR FT
widF Title ) TWET Rent E
Salary Business Agriculture
ATFIHT Income% 45% 30% 15% 10%

(b) TZUDI TLATFHT ATCTHT Tl o 3@%‘! Y | Find the median of the given data.
2.7, 29,18, 25,32,21 26

Best of Luck




a)gC graerd FeTed g 5 @oélﬂ\ (Write a formula to find the discount
percentage)
-

b)3Th "I\IC({'IISObQ‘IOb\I ai%a Hed 9l T3 Je™ | Find the marked

. ice of the motorcycle.)
price o € motorcycle.
: e 0T AICHEHH] HIAA €.93Y 000 WY FFg Fderd o=

i qem 050 S . .
Jdelsy | Find the loss percentage if the price of the said motorcycle is

W’T’g‘é’ - Y0 Rs.135000)
Ffvfg .0 3 TSRO0 FN L AR WARN S ©.9050 TG | (1hesimple

hdl -¢

. . interest of Rs.7200 for 5 years is Rs.1080 )
oo - wforg JHT :- R "UT e -
W-ﬂam aﬁaﬁa—'{ I a) el QY %b‘ ollg Mg ? <Tdeld | (Whatisinterestrate?Writeit.)

S
) b) edivia Ml <l del | (Find the interest rate.)
(Attempt all the questlons) " o = ~
o) el SYNIGLHT €. L 000 Tﬁ 4 dUR[ TN &ld g"‘ég?(Whatis

the interest rate of Rs.25000 for 5 years at the same interest rate?)

q. T3 4 T wemgs i e fofea weeees 39 fRaes |
(Study the given vendiagram and answer the following questions) d)&[&Ta:r i > : S | (Find the amount)
Y. (o) HET TEATATE AT GCdT g ? IIEX Afed @I

L

| (What numbers are called proportional numbers?

Write with examples.)

’ (b) 10 HN. TAFH A ©.2Y% TG W 3 H.LEAGH a0
Fﬂm | (10 kg If the price of apples is Rs.95, find 3 kg of apples. )

A B

21 27 Terq
o haN o
c o J 0] O ST
(2 0T e frareust gueeears g e e | () 20917 HIRSIET Bl 20 TEA1 90 T TG 9
AR I B B [GHT T4 GoFge? 91 TTSTeR (20

(Write the groups shown in the Venn diagram using the listing method) . .
men can complete a work in 30 days, in how many days can 10 men complete the work?
Find out.)

b) THEEE A Tp WCUHT a1 AANUHT HEAT HEEE §I1? BRI
%_"lﬁrq | ¥, UJIdl W W W 3C.y\m?§ | (The area of a circular pond
is 38.5m2)

N
(What groups are groups A and B mixed or separated? Give a reason.)

(c) %’l’qj A Bl _GF% Wj ﬁjﬁ-ﬂT TF‘f Hias"a? W TI'& qdr a)Wtﬁ'@'ﬁﬁ BT%%&TH Hdl cfllsdel | (Find the semi-diameter of the

GHHEQQH\ | (How many subgroups of group A can be formed? Find out using the pond.)

fi 1

oreaula) . b)STH AGUD! qRIGD! TFaTS FAT TSR | (Find the length of the
R. R0% gcHl d=al U3l ﬁ'E{ dighcdnl Hed %.9%0,000 qa?r) perimeter of the pond.)

(a motorcycle costs Rs.140,000 when sold at 20% discount?)



c)wwqﬁmﬁmﬁﬁﬁawmo (How

many meters of wire are needed to surround the pond with five times wires?)
~
&) IFFHETHT €.340 F T Ih TG aR TST AT Hid
)

‘@?? ey ? (At the rate of Rs.250 per metre, how much will it cost to fill the pond?

&. a)m S wamT T 1@%'9\ (Simplify using the rule of

exponents.) x3%72 & x3%=5
X2 2
b) T THRI Simplify:- —— — 2—
x+y  x-y

0. a)‘@@w "ﬂé'ﬂ\ (Resolve into factors):- 9x2 — 49y2

b)a@ﬁq ﬁf‘é‘oﬂ?‘:m ”iiélg\ (Solve by graphical method ):-
xX+2y=6 2y —x =2
C. A9, I ST (find the HCF.):- a2 + 5a + 6Ta? +a — 6
b) T, BT G AG | (Define HCF)

%. o G 9T T FIEE SRR HUHT TS b AAG? (What

is

a polygon with all sides and angles equal called?)

b) AB | | cDWT x T AT Il TNSTBE | (in the figure AB | | CD.

Find the value of X ). P

d) P AATATHT gé’ et HHIHATdL \6}"‘22"1\? (Under what condition two

lines are parallel? )

90. AB=6cm, BC=5cm ¥ &I Ac=6cm§3ﬂlf| HTHTATAT ﬂ‘@iﬁ ABCD T

AT |\:; l é | H\ | (Construct a parallelogram  having AB=6 cm, BC=5cm and
diagronal AC=6cm)

9. a) NO70° E%@Tﬁ Tlff m ”;‘iélg\ | (Sketch to show the bearnig of
NO70°E)
b) 'Qilﬁiiglfgéﬁ 0(0,00A 3,4 < B(4,3) WAAOB Hl 0A=0BE"Y

ﬂ_"ﬁ é@ | giélg\ | Show that OA = OB in 2\ AOB with vertices O (0, 0), A (3, 4)
and B (4, 3).

o) T 8% P (2.4 Q0. »T=HT T T TSI | (find the
distance between the pints (P, Q) )

¢ ¥MEageT AG2)B(7.2) T2 IR AABCTTE SEIH [E7gH
AR -] 00/ YREHHIT & ol Ul Aa+rcs T
¥fidfargee T ST T 3 PREeTg JEEEEr ye g

”;iélg\ | (AABC with vertices A (3,2), B (7, 2) and C (3,-2) rotated through -900

o

about the origin Find the vertices of /A A'B'C' and graph both the triangles Present.)

1R. (2 T [CSUBT TATSHT AeAH AT NS | (Find the

mean of the data given below.)

EISIES
Marks K Clo ‘ii RO ?9\ 30 3% ¥ O XE(

Obtained

feramet

e |3y |ele ||| vl
No of

Students

() T T ATl A T Gearsd e | (different

between mean and median? )




WATET ATTeTehT
HATAAT 8 TET

-5 quifE: 4o
oo — v THA: R "D

Kl FEREIRE L] g1 | (All the Questions are compulsory.)

1.(a) AT IR F B ? (What do you mean by venn diagram ?)

(b) ¥ Fr=wT @SS dHER TS U
A
T fafgare s |
(List the elements of the sets e i
shown in the venn diagram)-1

c) THEEE AT B WU A1 AAMUHT HEAT THE g ? HRUERT q@ed |
What type of sets are A and B overlapping or disjoint sets in the given venn
diagram.

2. BT YA IoRa! T8aHT fhd H&d 40,000 WUHT U3l HFILX UT
%.35000 AT =T | In a shop of Bhangaha sitapur Market, a computer set was
sold for RS 5000 whose marked price Price gas Rs 40000.

(a) g< THH Tdl ©I3Te | find out the discount amount. -1

(b) G& WideTd IaT TWISTe™ | find out discount percent. -2

(c) 13% vat AlRd It HFIET FEH! Hed Tl TSI | Find the price
of the computer set with 13% vat. -2

3. A AThT feUa! 0T 3 aUaT altes 10% SATSEd ©. 2400 ST
g7 | Ram Pays Rs 2400 as interest of the rate of 10%. p.a. in 3 years.
a) PEE I, T& R T ST ?I'@@'G | Express p in terms of I, T and R. -1
b) Sl Wid TUAT W ferut W | AT TR |

How much loan has she taken ? Calculate it. -2
c) AALTART ST B Fiaerael Tl g | Ia1 TS Ter | By What
percent is the principal less than interest ? find it. -1

4. (a) TYTHEAT VAT 74171.7 W A6 Hhedl F@EE | Write the decimal

number 74171.7 in scientific Notation.

b) X, 2, 6,4 THIAACTH WY x I AT Il TSI | Ifx, 2, 6,4 arein
proportion, find the value of x. -1
c) TYHAT FEAT 0.3 TS M=IHI LA THRE | Convert the decimal
number 0.5 into fraction. -2
d) TS ATIR T 34415 TS FIHAT FEATH TR0 e | Convert the
Quinary number 3441s into decimal number. -1
5) 3T Fdrehil qrERET %A 616 m? S | The area of Circular pond 616m?2.

a) Ih qradi! Adearg adr WT?:@H | Find the radius of the pond: -2
b) ST W@UHT URIIH TFls IaT TRMSTBE | Find the length of the
circumference of the pond. -1

¢) ST TEUATS Ui Tvebl dIiel O Hid WL aiX e | How much
wire is needed to surround the pond 5 times wire. - 1

d) 9id HieX®T € 500 Bl Tl IH @A aR TS SIFAT Hid @
ey | How much does it cost for fencing the pond at the rate of Rs 500 per
meter - 1

6. a) TR ol | IR T W I NAUSK] 2 | Using the law of indices,

. 3%+243¥
find the value of -1
5 x3%

b) T e (simplify) : ——— — —

x%+3x+2 x2-1
7.a) HEAT HIEHTEEATS ?T%l{'@ﬁ THHETT 9 | What type type of
equations are called simultaneous equations. - 1
b) <T@t fafeare g @™ | (Solve graphically) - 2
2x-1=y, 3x-2y=0
8.a) .. IaT TMSTa™ (find the LCM of): - 2
22-4, X2+x-2
b) A% I YEUEEHT ANMHA 25T Tl 15§ Wal A gedrge qal
FI'JTI':@'{ | If the sum of two numbers is 25 and their difference is 15, Find
the numbers- 2

9. a) ¥ishT = guT PifeE $ qeaER a9€9 T | By which

axiom, the given triangles are Congruent ? — 1
D
A




b) faguaT fo=mT x T yﬁ HIT 9l < T Silé g | Inthe given figure, find the

valueof xandy. —2

10. a) YT (AB) = 4cm, %1 AC = 6cm T 9371 BD = 5cm g7 T @A, ABCD
EaR eIl Tl'fl:@'q | Construct a parallelogram ABCD having side AB = 4cm,
diagonals AC: 6cm and BD=5cm -3
b) TEACT Lk HIH BT AT FAE, (b1 [HHvieE ATTHA T greg
W JARTICH® STHT YW e |

Draw two Squares of different measurements and verify experimentally that
the diagonals of a square are perpendicular to each other. -2

11. a) U3T TIF A TS Al €9 B T [T AT 60° T 99 TI9 BT
T AHT feew Rafq qar WTIG‘:@'H | If the Bearing of a place B from
place A is 60° find the bearing of A from B. ---2
b) ¥ 738 A(1, 0), B(4, 5) T C(7, -2) TUHT AABC TTE <@I==# THad |
I Pears 3 U Tt X5 UHE ad e T ceE
w&Eqd TI':@?T | Draw AABC with vertices A(1,0), B(4,5) and C(7,-2) in a graph

paper, then displace the triangle 3 units right and 5 units down and show it in
the graph paper ----3

¢) x T y I W Tl &0 Gilé q | Find the value of xandy. --2

12) a) USCT URARS! AIHH @ a0l qoad! qMAHAT [KeUhl g1 Ih
[EELUKIEY ?frlﬁ?ﬂ:ﬂ TEJT ﬂ'gfiﬁ'ﬂ | The description of monthly expenditure of

monthly is given below. Represent the information in a pre-chart.

ML @ ferar FIST arAT a3
title food education | Clothing Trasport others
hH 6000 8000 5000 6000 11000
amount(Rs.)

b) AT X, x+2, X+5, x+7 T x+8 TGEI HHAT G T I TLAEHH] ARIH 15 WY
X I AT Tar Gﬂllgﬂélﬂ | If x, x+2, x+5, a+7 and a+8 are in ascending order and
the median of this data is 15. Find the value x -1

Best of Luck



ATET TRATeT
TR BRAHBER BT, AR
TREART IREAT 050

q;UﬁE:-XO
FET T S :- R0
oo - wifvre AT - 3 HUET

Tl Gl WHEE AR g |
(Attempt all the questions)

Q. WEATIF THE U={a,e,i,o,u} FT & ACT STIUEEE R={a,i,0} T S={i,ou} FL | (Two

subsets of the Universal set U={a,e,i,o,u} are R={a,i,o} and S={i,o,u}. .
a) YHggee RIS '@ﬁ'@h—f ar ﬂﬁﬁ'@h—f HEAT THe g7 (What type of set are
R and S Overlapping or disjoint?)
b) WIUHT THE A s W =AAT I@STRMR | (Show the above st in A
Venndigram)
) TUEEE RT SHA g5 AT E ITGUEEE @A | (Write any two

common sub-set of sets R and S)

. #fFd Ao ©.5%0 WUH U3l AEE ©.800 W AMG | (A mobile with marked

price Rs.850 is sold for Rs.700.)

a) gc gfcrerd o= Wﬂ?ﬂ%\'l'{ | (find the discount percent.)

b) ST HEE (3% Hed AWIG HT VAIC TMUR o=al oA Hid qg? (If the
mobile sold is with 13% Value added tax find the price with VAT?)

c) YT % TATT ﬂ'%l@ | (What is mean by disount percent. Write it.)

a) TN, ZATSIER T GAYT FEgUAT Aawmr QURY <A U TS A o ae |

(Principal Rate and time are given to us. Then Write the formaula of simple interest. )

b) FEROT TS Il ST ? (Find the Simple Interest.) el (P)=1000,

AR (I)=12% ¥ FHA(T) =59

) T.RYE0 B ¥ AUD IR =AW B.EYGC §rg AT SUNWEL Hid g2 (The

simple interest u Rs.2160 for 4 year in Rs.648. Find the Rate?)

a) IS GhAHT TUH! GEAT 4.579x10° TS TIHCT TEATAT UL THEr |

(Convert the number 4.579x105 in scientific notation into decimal number. )

B) UM .50 AT Y AT HH Uerg W9 .20 AT Hid ACT HAR azv5? (If
5 pen can be bought for Rs.60. Find how many pens can be bought for Rs.240?)

C) TYAE el 0.53 ATe WM TI=a0 Tfffa'{{ | (convert the decimal number
0.53 into fraction. )

D) 110111, @5 T¥ HUR TEHT UL THe | (Convert 110111, into quinery
number system.)

T3l IdThIT SHIMHT &dAhed L 00 EWF&IETQ | (The area of a circular plot is
2500 sq.m.)

a) ST AGSATH IAT TWMSTE™. (Find the radius of the land.)

b) S Al B eal TEITS O I3 d&lH (Find the length of the circum ference of
the land.)

c) TFA SIMET YidHeT®! €. 00 HT Tl AR 3T Hid @4 ang? (Find
the cost of fencing the land at the reate of Rs.1200 per metor.)
d) S W dFTs R e wuel aieER qEd WY 9 S TrEdwl

AR Il M3 ded | (If there is a squiare pond of length 12m in the land.
Find the area of the pond.)

a) TATEHT W WARE 93 ‘Iﬂé T | (Simplify using law of indices. )

x3m—2 -~ x3—4—

b) LT TR, (Simplify): ﬁ +

1 2y
x=y  x%-y?

a) @EIHI A (Factorize ):- p? — =

49q2

b) <T@f= fAfersTe &<l TR (Solve by graphical method.):- x +y = 6,y = x — 4

a) .9, TRAT TSI (Find LCM):- 9x2 — 24xy + 16y? T 3x2 — xy — 4y?
2-5x+6
b) &<l T@'{ (Solve):- xxz—x+

—2x

a) 35 TIgE® P(xy, y1)T Qxzy2) ol T Fabter ¥7 <@ |
(Write the formula to the find the distance betwwen the pints P(x, y)and Q(x2,y2).)

b) fESUHT AR AbIICD T X HT W BT §rg? FR Aed Agad |

(If the given figure, if AblICD, what will be the value of X. Write with reason.)

C o D

S

d) T AABC T 2<A=3<B=6<C WY T HIVEEHT A Tl THISTEr |

(Find the Value of all angles.)



qo.

19.

9.

a) 9T (AB)=4cm, @0 (AC)=6cm T %01 BD=5cm B & .= ABCD &1 Lol
T@E | (Construct a parallelogram ABCD having sides AB=4cm, diagonal AC=6cm
and diargronal BD=5cm)

b) 5 ACT FiH-Hid AUHT A oS, AW(HT [AHVEE U ATTTH T g

T YARTCHE  BYHT IO T@%}{ | (Draw two Square of different

measurement and verify experimentally that the diagonal of a square are
perpendicular to each other.)

a) NO70°E @I T @i T@'{ | (Sketch to show the bearing of NO70°E.)

b) [¥iergET 0 (0,0),A(3,4) B (4,3) WUHT AAOBHT OA=0BE"E Wl SWISTER.
(InAAOB with vertices O (0, 0), A(3, 4) and B (4, 3). Show that OA=0B)

) AABCHTE I&7H favg (0, 0) a1 90° gIcA® faemdr AiHaT T fagee A,
B ¥ CH URHAT Ugal fagee A, BT C HI Heemg @e | (Rotate

the AABC at positive direction at the Origin (0, 0). Write the Co-ordinate of the image
A’, B’ and C’ after rotate. )

a) ié%ﬂél qLgrg dic Eﬁ'ﬂﬁ ﬁﬁlv_:@'{{ | (Find the average from the given data.)

T 10 | 15 | 20 | 25 | 30 | 25
i gear | 2 | 7| 4 | 5| 4| 3

b) wfeaasT T @ Eﬂglﬁ | (Find the median from belew data. )
20, 30, 40, 42, 53, 60




YATET Rt
R B! HEad,Hed
ATIRAT T2 4REm 2050

quiTgeh - o
HETT ¢ 3luigs -0
vy - afoa HAY - R "UT
TIH TS TeAES NG o |
(Attempt all the questions)
9. u3cr A =T feuat © | (given a vend diagram) " N U
a) HET HHGEeAls TR T Hivlwo? Q
(what type of sets are disjoint set?)
b) WHE M F T TF ASET 37 THEEE SGEIH? > 7 8

(Write all sub sets of set M with single elements)

) Tl el feuhr Fagee M T N IfiITsht Fofg doecoel?
(In what condition the given set M and N become disjoint sets?

HigeTel 37sfehd Hed ©.2000 ST U3 9@ 10% TeAT fdhas |(Mohan bought a fan of

level price Rs.2000 ate 10% discount.

a) e A T 3Sfhd Fed TR AR 9T 7qeT FfA geo?
(how much is the selling price of an article whose marked price is MD and the
discount percent is D% ?

b) 3% YS! fAhT Hed el EM3gerd | (Find the selling price of the fan.)

c) 3% 9sWI 20% AT ARTH! TS Al T Hed IaT o3aerd| (If the fan is sold
at 20% loss, find the cost price.)

3T T3eT FEHRT FEAHT FRRA B | 3T A IeEASTE g AGAHAT - HIT Tl

T 36 T e @d A1fSeT | (Rabina is working in acooperative institution. She has

speed gpart of her income in food and 36 part of income in education.)

a) 3ad W ¥ RemeEed Fo MfewraAr adt @ AfEA? (In which tide beetween food
and education will she spent more.)

b) 3 ARG dod $.24000 AT AIRAF Fid wA gad IfSA? IaT 931, (She has
monthly income Rs.2400.What is her monthly seving? Found it.

) 1/3 T 2/6 drdel Fot gZ3NeT IHqalfcieh HEAT JaT FM3FE | (Write any two rational
number between %2 and 2/6.)

d) 2/6 N T AT Pl TEAT ST ATl 1/2 HIT SRS g=0? (Wich numbers is
added to the numerator and denominator 2/6 so that sum is equal to 1/27?)

g ot 9Ha ST | 3HA 5 3eT FEAAT Iefeetd 100 W @ o fBeRare

f3hell SATTBT | AT MU Tolehl gt TieR gl 15 3ieT Whe Feahl IUS | (Hari

is a wholeseller. He has bought 100 packets of half litess cooking Oil in 5 cartons

from a dealer when she reached has shop and opened the carton, he got 15 packets

were broken.)

a) iRl FTRI ORIl o934 g oRge (Write the formula to find the loss percent.)

b) aﬁwaﬁwg@mmsowaﬁmmm%ﬁwa@m
FfdaAT ek oAUl IESA? (if he sold each packets in Rs.150 from unbroken
packets he made a loss of 12% what was her cost price?)

c) TR 7% ATH I Y o1 AHeHT Flehr AThege ©.300 Heal Y ar YN aTAT Teaor?
AUTAT IR HROT Figed oRFERL I(if 7% profit is to be made then the remaining
unbroken packets should be sold more or less than Rs.300 each? Calculate and
write with reason.)

d) eftr-3muR HE&ar 110001, o SHT HEIT Uegidar e Ierd |(Convert the
binary number 110001, into decimal number system)

T3e 10 cm WFEETE HUR! GeAThR deel T oG cliel T GellhR Solehl 37ehl WSH@eR!

SAHAT fGguar & | (A cube of length 10 cm and another cube made of three similar

cubes are given a sample.)

a) TGSTH AR SCehl T Fclgeh! &1Thel kg (Write the total surface area of
the given cube)

b) fSUR! YSHEH R aT T3 | find the volume of the given cobord.

c) & #d RSUR VSHGH [T HcAghl &1Thel HAhR dcelohl X Hclgeh! &Therehl el
0T g ? FHROT afgd oREN I(Is the total surface area of the above hexagon
three times the total surface area of the cube? Write with reasons)

d) gl TR T AR HFe=tl oRFer | (Write the relationship between
circumference and diameter of a circle)

a) ©TdTss fAgH JANT IRY AT ool F3e | (Find the value using the exponential

rule) 3x+2 4 3%

5X3%

b) &er RN (Simplify):-

m? n?

m+n m+n

a) a9 FHEOT T YT FHAERUER U3l BeeTdr aRgerd | (Write a difference between
a
Quadratic equation and a linear equation)
b) ST wleT I gl IEHE: (solve using graph.) x+y=53Ix—2y=7
a.) o, 9ar Fm3aerg | (Find the LCM of ) x? — 49 Tx? + 10x + 21)
b) @37 @HIFUTETE & IEiEIE (solve the quadratic equatin.) a® —2a—3 =0
(a) TgsUal fFAT <BGH T <GHD &I &=t oRgerq (Write the relation between <BGH

and <GHD in the given figure.) E
A G B

c D



(b) feguerl frFAT ABIICD 2W3gI¥ (In the given figure show that ABIICD.)

AAD
o
B 45 E

C
(C) USTT ST xcm TR HaTg 3! & aher iy §=o? (what is the area of an
equilateral triangle having one side xcm.)
10. (a) T3el 3 MNOP &1 T€ll Tejgrd AT MN=5.5cm T OP=6.5cm & | (construct a
Rectangle MNOP where MN=5.5cm and OP=6.5cm.)
(b) AXYZ T XYA 3739 BeT EEly a'@B?_I,?FH | (show the AXYZ and AXYA are
congruent.)
19. (a) ReSuar FapIoT Fegerhr faee MN, NO T MO #T MO &g MN T NO T &9&T
oRgerd | (In the sides MN, NO and MO of the given right triangle, write

MO as MN and NO) M

o N

(b) fa=ge® A (3, 4) T B (-2, -3) drshl gl 9dm =*m3=e1 | (Find the distance
between points A (3, 4) and B (-2, -3).
(C) fa=ge® A (4, 2), B (3, 5) T C (6, 5) $uah PIAeTS @m=a Relgd |
JHTS Y JHETAT RIeclal IR Gfet faFaels orar unT ey ararfa=ar Sursere
| (Sketch the triangle with points A (4, 2), B (3, 5) and C (6, 5).
Reflect it on the Y axis and show it on the same diagram by
shading each image.)
1R. (a) feguar deargsa! A m e | (find the average valu T from the
given data.) 2, 7,9, 12 and 15
(b) ATTEGRT gl FM3aEI | (find the median.)
x | 10|20 |30 |40 50|60
Fl3 5 |4 7 6 9




